D.A.V. Police Public School

(Under the direct control of D.A.V. College Managing Committee, ™Wew Delhi) N

Affiliated to CBSE Wew Delhi: S32059 (to be upgraded up to Senior Secondary)
Police Lines, Narnaul-123001(Haxrvana)

E-mail: davppsnnli@gmail.com. Website: www.davppsnnl.in

Contact Wo. 01282254253 .254255, 9811459135

Dear Students,

As the festival of lights approaches, we extend our warmest wishes to you and your families for a joyous and
prosperous Diwali. May this Diwali bring new light into your lives, illuminating your hearts with happiness, health,

and success.

Let us celebrate this Diwali by spreading joy and kindness, embracing the spirit of togetherness, and sharing the
festive cheer with everyone around us. Remember to stay safe and make the most of this beautiful festival with your

loved ones.

Happy Diwali!
Please note the following points-
[ There will be holiday from 30" October to 3™ November 2024 on account of Diwali.

1 School Timings from 4™ November 2024 will be 8:50a.m. to 2:50 p.m.

[] Parents are requested to submit pending dues.
[] Please find the attachment.
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Ch. 5 :The Snake and The Mirror
Poem: A legend of the Northland
Ch.6: My Childhood
Ch.7 : Reach for the Top

(a) Santosh Yadav

(b) Maria Sharapova

Poem : No Men Are Foreign
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Ch.7 The Last Leaf
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Q1. Read the Passage carefully:"

1 Bamboo is perhaps the most useful plant in the world. It grows in almost all tropical and subtropical countries. The
only continents in which bamboo does not grow are Europe and Antarctica. In India, it grows extensively in the
north-east and in the Western Ghats. There are varieties of bamboo that grow to a height of 40 metres, and others that
reach a height of only a metre. Bamboo is among the fastest-growing plants of the world, one plant in Japan recorded
a growth of 121 centimetres in one day! You could almost see it growing!

2 The bamboo is a variety of grass, with a woody, many-jointed stem. The stem itself is hollow and is connected to a
rhizome network which spreads out beneath the surface of the soil. Roots grow out of this network of rhizomes and
help the plant to absorb and distribute food and water from the soil. Many species of bamboo flower once in several
years and then die One species flowers regularly once in 120 years; bamboos of that species all over the world flower
together in the same year, and then die.

3 Bamboo is a versatile plant. Men have found several uses for it. Bamboo shoots are staple diet in many Asian
countries. The shoots are pickled or stewed, and served as delicacies. The fleshy fruits of one species of bamboo in
Assam are eaten raw or cooked. When there is a drought, bamboo seeds are used as a substitute for rice.

ubject - English



4 The commercial uses of a bamboo are astonishing. India produces over 3 million tonnes of bamboo annually, and
nearly half of it is turned into paper. Another important use of bamboo is in housing. Instead of costly timber, bamboo
can be used in the construction of houses. In Columbia, bamboo used in house structures is covered with plaster.
Bamboo can even replace steel in many of its uses. Concrete reinforced? with bamboo has sufficient strength for most
uses. In Assam, suspension bridges have been built using bamboo. Scientists at the Forest Research Institute,
Dehradun, are working on the extraction of diesel fuel from the jointed stem of bamboo. With its network of rhizomes
and roots, bamboo plays an important role in the prevention of soil erosion.

Answer the following questions briefly

1. Where does the bamboo grow?

2. What are the only continents in which the bamboo does not grow?

3. Where does the bamboo grow extensively in India?

4. What type of a stem does the bamboo have?

5. How do the roots of the bamboo help it?

6. '"Bamboo is a versatile plant. What does it mean?

7. What are the scientists at the Forest Research Institute, Dehradun, working on?

8. What important role can the bamboo rhizomes and roots play?

Q.

4 Complete the following Passage by choosing the most appropriate option from the ones given below

It must have (a).......ccocvvieveiiiiiint, around midnight when I drove home. As I approached the gates of the
bungalow ,I switched off the headlights of the car so that (b) ........................ beam wouldn’t swing in through
the window of the side bedroom (¢)....................... wake my papa.

(a) (i) be (i1) been (ii1) being (iv) is

(b) (i) the (i) a (iii)an (iv)at

(c¢) ()or (i1) but (iii)despite (iv) and

Q5. Re-arranged to form meaningful sentences:
(1) and /numberless/ sizes / birds / shapes / have
(i1 ) Prey/ are/owls / of /birds.

Q6. Edit the following passage:
Incorrect Correct
The world for technology is ~ .....h
one area in what science is ~ Liceeees e
isolating us. Expert predicted L
that very soon much people o
well be able to work from home 0 L
Q7. Read the passage and answer the questions that follow:
"Johnsy it seems has made up her mind that is not going to get well.
If she does not want to leave, medicine well not help her”.
(i) What was doctor's belief?
(il)) What was. Johnsy's illness?
(iii) Give the meaning of the idiom "made up her mind ".
Q8. Answer the following questions in 30-40 words.
(i) How did Santosh begin to climb mountains?
(i1) can a simple jab of the knife kill a tree? why not?
(iii)) How was the problem of what to do with Bruno solved?
(iv) What was Behrman's masterpiece? What makes Sue say so?
Q.9 Answer the questions in about 100-120 words.
A fearful situation makes us lose our senses. Express your views with reference to ‘The Snake And The Mirror’ on the
doctor’s reaction.

Subject — Maths

Ql. Write two Euclid's axioms .
Q2. What is mid point theorem?
Q3. Write down coefficient of x~ in polynomial lez + x
Q4.  What is total surface area of hemisphere ?
Section-2
Q5 If a point C lies between two points A and B such that AC = BC ,then prove that AC = > AB .Explain
by drawing the figure.

Qeé. ABC is a triangle right angles at C . A line through the midpoint M of hypotenuse AB and parallel to
BC intersects AC at D .Show that
(1) D is the mid point of AC (i) MD perpendicular AC
(i) CM = MA = %AB
Q7. ABCD is a parallelogram and AP and CQ are perpendiculars from vertices A and C on diagonal BD .



Show that (I) A APB = A CQD. (ii) AP =CQ
Q8. Two circles of radii 5 cm and 3cm intersect at two points and the distance between their centres is 4cm.
Find length of common chord.
Section-3
Q9 Case study question:-

1. A survey conducted by an organisation for the cause of illness and death among the women between the ages
15 — 44 (in years) worldwide found the following figures (in % ):

S.No. Causes Female fatality rate (%)
1 b Reproductive health conditions 31.8

2 Neuropsychiatric conditions 254

3. Injuries 12.4

4. Cardiovascular conditions 4.3

<1 Respiratory conditions 4.1

6. Other causes 22.0

(i) Represent the information given above graphically.
(ii) Which condition is the major cause of women’s ill health and death worldwide?

(iii) Try to find out, with the help of your teacher, any two factors which play a major role in the cause in (ii)
above being the major cause.

Q10 The diameter of a metallic ball is 4.2 cm .What is the mass of the ball , if the density of the metal is
8.9 gpercm?®?
Q11. Ifnon parallel 1 sides of a trapezium are equal ,prove that it is cyclic.

Section-4
Q12 In given figure , if AB parallel CD ,. APQ =50 and . PRD = 127, find x and y.
A P B
s50°54,
x 127
C Q R D

Q13 A hemispherical bowl is made of steel , 0.25 cm thick . The inner radius of the bowl is Scm .Find the
outer curved surface area of the bowl .

Q14 Factorise ;. 64m?- 343 n?

QI15. Angle PQR =100+ ,where P ,Q ,R are points on a circle with centre O . Find angle OPR.

Subject- Science
Section - A

(1) What are canal rays?

2) What do you mean by free fall?

3) When do we say that work is done?

4) Define 1J of work.

(5) Name the three sub atomic particles of an atom.
Section - B
(D) Write the distribution of electrons in carbon and sodium atoms.
2) What do you mean by acceleration due to gravity?
3) What is the kinetic energy of an object? Write an expression for it.

4 What are the limitation of the Rutherford’s model of the atom.
®)] Explain universal law of gravitation in detail.



Section C

@8 Write differences between mass of an object and its weight.

2) Find the relation between weight of an object on moon and its weight on earth.
3) Compare the properties of electrons , protons and neutrons.

4) Define 1 watt of power and average power.

®)] An object of mass 40 kg is raised to a height of 5 meter above the ground. What is its potential energy?

Section D
(D) Compare all the proposed models of an atom.
2) Why does an object float or sink when placed on the surface of the water.
3) Find the energy in kwh consumed in 10 hours by four devices of power 500 Watt each .

4). Explain law of conservation with the example of simple pendulum.

Case study question

Read the following and answer the questions:

One day Rahul decided to go his office by his car. He is enjoying the driving along with listening the old songs. His
car is moving along a straight road at a steady speed. On a particular moment, he notices that the car travels 150 m in 5
seconds.

(i) What is its average speed?

(a) 20 m/s (b) 30 m/s (c)10m/s (d) 40 m/s
(ii)) How far does it travel in 1 second?
(a) 20 m (b) 30 m
(c) 10 m (d)40 m
(i) How far does it travel in 6 seconds?
(a) 120 m (b) 130 m
(c) 180 m (d) 140 m
(iv) How long does it take to travel 240 m ?
(a) 2s (b) 4s
(c) 6s (d) 8s
(Biology and Chemistry)
Q1. Which of the following is not a type of epithelial tissue?
a) Squamous epithelium b) Columnar epithelium
c¢) Cardiac epithelium d) Cuboidal epithelium
Q2. What is the main function of xylem tissue in plants?
a) Transport of food b) Transport of water
¢) Protection from infection d) Storage of nutrients
Q3.Which of the following is a connective tissue?
a) Muscle b) Bone ¢) Nerve d) Skin
Q4. Phloem helps in the transport of:
a) Water b) Minerals ¢) Food d) Oxygen
Q5. Which of the following muscle types are involuntary in nature?
a) Skeletal b) Cardiac ¢) Smooth d) Bothband ¢
Q6. What type of epithelial tissue is found in the alveoli of the lungs?
a) Squamous epithelium b) Cuboidal epithelium
¢) Columnar epithelium d) Stratified epithelium
Q7. Which component of blood is responsible for clotting?
a) White blood cells b) Red blood cells c) Platelets d) Plasma
Q8. Ligaments connect:
a) Muscle to muscle b) Bone to bone ¢) Bone to muscle d) Muscle to skin
Q9. Which of the following is a simple permanent tissue?
a) Xylem b) Phloem c¢) Parenchyma d) Sclerenchyma
QI10. The cells of which tissue are specialized for contraction and movement?
a) Connective tissue b) Muscular tissue ¢) Epithelial tissue d) Nervous tissue
Q11. The vascular tissue in plants includes:
a) Xylem and phloem b) Parenchyma and collenchyma
¢) Sclerenchyma and parenchyma d) Epidermis and cortex
Q12. Which of the following tissues helps in photosynthesis in leaves?
a) Phloem b) Sclerenchyma c) Palisade parenchyma d) Collenchym
Q13. Tendons are made up of which type of tissue?
a) Nervous tissue b) Connective tissue c) Epithelial tissue d) Muscular tissue
Q14. Which of the following is a characteristic of sclerenchyma?
a) Cells are alive and store food b) Cells are dead and provide mechanical strength

¢) Cells are involved in photosynthesis d) Cells help in transport of food



Q15. Which tissue in plants is responsible for the transport of nutrients?
a) Xylem b) Phloem c¢) Parenchyma d) Sclerenchyma

Short Answer Questions
Q16. What are meristematic tissues? Mention their types.
Q17. Differentiate between xylem and phloem.Name two types of connective tissues and their functions.
Q18. Explain the structure of squamous epithelium.
Q19. What are the main functions of blood as a tissue?
Q20. State two differences between voluntary and involuntary muscles.
Q21. What is the role of epidermal tissue in plants?

Short Answer Questions
Q22. Describe the structure and function of cardiac muscles.
Q23 Explain the importance of connective tissue in animals.
Q24. How does phloem transport food in plants? Describe the components of phloem.
Q25. What are the functions of parenchyma, collenchyma, and sclerenchyma in plants?

Long Answer Questions

Q26. Explain the structure, location, and functions of epithelial tissues. Describe the different types of epithelial

tissues with examples.
Q27. Discuss the structure and function of nervous tissue. How does it help in coordination and control in

animals?

Q28. Describe the structure, functions, and importance of meristematic tissue. How does it help in plant growth?

Subject- Computer Application

Section - A
)] What is spamming?
2) What was Melissa?
3) What do mean by range of cells
Section -B
1.  How can you protect your computer and other devices from virus attacks?
2. i. How is a computer virus different from a biological virus?
ii. What is spamming?
3) Discus a few symptoms of computer virus attack.
Section -C
(n Why is formatting is necessary ?
2) Discuss a few symptoms of computer virus attack.

Subject- Social science

Q.1.  Most of the freshwater lakes are in which region?

A. The Himalayan region B. The Plain region C. The Central region D. None of these
Q.2.  Which of the following lakes is a lagoon in the coastal areas?

A. Sambhar lake B. Dal lake C. Chilika lake D. All of these

Q.3.  The Prime Minister and the Cabinet are institutions that take
A. Steps to implement the ministers’ decisions.
B. Steps to settle the disputes between citizens and the government finally

C. all important policy decisions D. None
Q.4. Lok Sabha has more powers than Rajya Sabha in

A. Administrative matters B. Passing different bills C. Money matters D. None
Q.5. By how many days can the Rajya Sabha delay a money bill?

A. 10 days B. 14 days C. 21 days D. 30 days
Q7. Where can one find the monsoon type of climate in Asia?

A. Southeast B. Northeast C. West D. Northwest
Q.8.  The word monsoon is derived from the word mausim which is a word from which language?

A. Latin B. British C. Arabic D. Portugese

Q.9.  Where can one find a wide difference in day and night temperatures in India?
A. Andaman and Nicobar Islands B. Goa C. Thar Desert

D. Kerala



Q.10. Which areas experience less contrasts in temperature conditions?

A. Coastal areas B. Plains C. Hilly areas D. Plateau region

Q 11.  Which one of the following is a major climatic control?

A. Latitude B. Ocean currents C. Relief features D. All of the above

Q 12.  Which line passes from the Rann of Kuchchh in the west to Mizoram in the east?

A. Tropic of Cancer B. Tropic of Capricorn C. Equator D. None of these

Q.13.  Which part of India experiences tropical climate?
A. South of the Tropic of Cancer B. North of the Tropic of Cancer
C. Region surrounding the Equator D. All of the above

Q.14.. What do you understand by the term Loo?

Q.15.. Mawsynram receives the highest amount of rainfall in the world. Why?

Q.16.. Monsoon are called seasonal winds. Why?

Q.17. Tamil Nadu coastal region receivs most of the rain in winter. Why?

Q.18. Define age structure, death rate, and birth rate.

Q.19. What are the advantages of having a healthy population?

Q.20. Map skills:- Show the following on the outline map of India:- a) A state getting mango showers.
getting cyclonic rainfall in India. ¢) An area where Loo blow during summer. d) A rain shadow area.

getting highest rainfall in India. f) The coldest place in India. g) The hottest place in India.

b) A state
e) A place



